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(A)Colligative properties:

(B)Ideal solution:
(C)The first law of thermodynamics:

(D)Gibbs energy (G) =
(E)Enthalpy (H) =
(F) Efficiency of Carnot engine (1) =
(G)oule-Thomson coefficient (1) =

(H)Relaxation time (t*) =

KA (10 %)

BETHIRACOBENZESL W= “Pex AV 2 2 (A) #8% ideal gas,
isothermal, reversible,B] W=7 (B) £.8 % Van der Waals gas, 1sothermal,
reversible, B} W= ? |
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Suppose that a gas obeys the van der Waals equation, prove that
(OU/dVm Iy =a/ V2.
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The accompanying diagram represents a reversible Carnot cycle for ideal gas:
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(A)What is thermodynamic efficiency of the engine?

(B)How much heat is rejected at the lower temperature, 200K, during the isothermal
compression?

(C)What is the entropy increase during the isothermal expansion at 1000K?

(D)What is the entropy decrease during the isothermal compression at 200K?

(E)What is the increase in Gibbs energy during the process A—B?
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The isotpoe 1P emits radiation and has a half-life of 14.3 days. Calculate the decay
constant in $™'. What percentage of the initial activity remains after 10 days?
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